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Warm Up

Solve for x.

1. 2.

3. Simplify:
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7­2 Notes on the Converse of the 
Pythagorean Theorem

If c2 = a2 + b2, then ABC is a right triangle.

If c2 < a2 + b2, then ABC is an acute triangle.

If c2 > a2 + b2, then ABC is an obtuse triangle.

Reminder: 
to form a triangle the sum of any 2 sides is greater 
than the third one

A B

C

A + B > C
B + C > A
C + A > B

Ex 1 Is the given triangle a right triangle?  If not, what kind of 
triangle is it?
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Ex 2 Is the given triangle a right triangle?  If not, what 
kind of triangle is it?

20

12

16

Ex 3 Can segments with lengths 11.2, 6.5, and 
7.1 form a triangle?  If so, would it be 
acute, right, or obtuse?
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Ex 4 Can segments with lengths 10, 15, and 
form a triangle?  If so, would it be 

acute, right, or obtuse?

Ex. 5 Classify the triangle with sides 4, 7, and 9 as acute, 
right, or obtuse.

Without a calculator, classify the triangle with sides 
8, 14, and 18 as acute, right, or obtuse.
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